2+5= 3+3=

They only produce enough milk large amounts of milk.
Beef makes hamburger.

3 + 0 = 0 + 1 =

Silage is made by chopping up graze in the pasture.
Beef cows make steak.

4+4= 2+2=

We get many products
Beef cows make

cows when it 1s cold outside.
ribs.

1+0=
In the summer, cows
Beef cows make

2+0=
The farmer feeds the cows silage.
pot roast.

1+3= 3+2=

The farmer must provide shelter for heavily muscled.
Beef cows make cubed steak.
1+1= 4+3=

When the weather is cold,
Beef cows make

to nurture their young.
prime rib.




2+4 =
They do not produce
Beef cows make

2+1=

Immature corn (ears, leaves, & stalk).
hamburger.

l1+4=
Beef cows are
Beef cows make

3+5=
from beef cows.
roast beef.

2+0=
They eat silage, grass, alfalfa,
Dairy cows make

5+0=
about 100 glasses of milk a day.
milk.

S+1= 1+0=

Their bodies start making milk after graze in pasture.
Dairy cows make cheese.

O + 3 = 4 + 2 =

Silage is made by chopping up the they have a baby calf.
Dairy cows make butter.

0+1= 1+1=

Cows like to
Dairy cows make

clover, wheat, and hay.
yogurt.




2+3=
Dairy cows use food to produce
Dairy cows make

T+1=
dairy cow is milked twice a day.
chocolate ice cream.

6+1=
The milk is made in a sack
Dairy cows make

0+7=
under their bellies called an udder.
whipping cream.

2+6=
When the udder is full of milk, the
Dairy cows make

5+0=
about 100 glasses of milk a day.
buttermilk.

4+ 0=
Many farmers raise crops to
Dairy cows make

1+2 =
1mmature ears, leaves, & corn stalk.
sour cream.




